log AL luminance dlfference 2
- threshold; AL= L '—g-6300d/n?

y
0,40 AD 0,1s AY

AQ,
Y 0,47 average

X

0,34
0,45
0,15 0,19
0,58
0,25




log AL luminance dlfference 0
90 hreshold; AL= L Lg=63cd/nf

y
0,40 AD 0,1s AY

A0,
Y 0,47 average

X

0,34
0,45
0,15 0,19
0,58
0,25




log AL luminance dlfference ay
O e Ak Lg=63cd/nf

y
0,40 AD 0,1s AY

A0,
Y 0,47 average

X

0,34
0,45
0,15 0,19
0,58
0,25




log L/AL luminance contrast 0
sensitivity threshold Lg=630cd/?

T =L/AL
ADO0,1s AY
1 average




log L/AL luminance contrast | _
sensitivity threshold Lg=63cd/?

AD0,1s A,Y
| average




log L/AL luminance contrast 2
sensitivity threshold Lge6.3cdin?

T =L/AL
AD 0,1sA)Y
1 average




L/AL luminance contrast 0
sensitivity threshold Lg=630cd/n?

40T X Y i =L/AL
A 0,34 0,40 AD 0,1s A,Y | /

304 Y 0.45 0,47 average

20T




L/AL luminance contrast L=63
sensitivity threshold g

401

- X Y
A 0,34 0,40 AD 0,1s A,Y
30+ Y 0,45 0,47 average

20--




L/AL luminance contrast 2
sensitivity threshold Lg6.3cdin?

4071 X Y
A 0,34 0,40 AD 0,1s A,Y
30+ Y 0,45 0,47 average

20T




